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V= (1.9+1.4)/2x2.5+(1.4+2.9) /2% 3.0+(2.9+5.4) /2x 4.0+ (5.4+3.2) /2% 3.8 = 43.5m3
V= (0.8+0.5)/2x2.5+(0.5+0.7) /2% 3.0+(0. 7+0. 7) /2 x 4. 0+ (0. 7+0.6) /2x 3.8 = 8.7m3
V= (0.2+0.1)/2x2.5+(0.1+0. 2) /2 x 3. 0+ (0. 2+0. 2) /2 x 4. 0+ (0. 2+0.2) /2x 3. 8 = 2.4m3
V= 43.5+8.7-2.4/0.9 = 49.5m3
V= = 49.5m3
A= (4.85+4.85) /2% 2.5+ (4. 85+4.85) /2 x 3. 0+ (4. 85+3. 99) /2 x 4. 0+ (3. 99+2. 16) /2% 3. 8) =  56.0 m2
V= (0.01+0.01) /2 x 2. 5+ (0. 01+0. 02) /2 x 3. 0+ (0. 02+0. 03) /2 x 4. 0+ (0. 03+0. 04) /2% 3. 8 = 0.3 m3
V= (5.5+5.6)/2x2.5+(5.6+5.8) /2x3.0+(5.8+4.9) /2x4.0+(4.9+3.1) /2% 3.8 = 67.6m3
A= (7.00+7.00) /2% 2. 5+(7.00+7.00) /2 x 3. 0+ (7. 00+6. 14) /2 x 4. 0+ (6. 14+4.31) /2x 3. 8+5.5+3. 1 = 93.2m2
A= 67.6/10 = 6.8m2
L= 67.6/3 = 22.5m
L= ((4.85+4.85) /2 x2.5+(4.85+4.85) /2% 3.0+(4.85+3.99) /2 x 4. 0+ (3. 99+2. 16) /2% 3.8) x y 2/{ 6+13.3 = 457m
W=((6.0+6.0) /2 x2.0+(6.0+6.0) /2 x 3. 0+(6.0+5. 0) /2 x 4. 0+ (5. 0+3.5) /2x 3.3) /1.0 x 0. 995 = 65.7 kg
W=((2.0/0.5+1.0) x (6.0+6.0) /2+3.0/0.5 x (6. 0+6. 0) /2+4.0/0.5 x (6. 0+5.0) /2+3. 3/0. 5x (5. 0+3.5) /2) x 1. 560 = 217.9 ke
N=13.3/2%3=20.0 = 200 &
L= = 12.2m
L= = 25m
A= 3.0x3.25+4. 0x (3. 25+2.62) /2+3. 68 x5.30x 1. 077+2. 28 x 3. 55 x 1. 077 = 51.2m2
L= 2.4+12.6 = 15.0m
V= (0.02+0.01) /2% 3.0 = 0.1m3
V= = 0.1 m3
V= = 01m
A= (6.4+6.4)/2x2.5+(6.4+6.4) /2% 3. 0+(6.4+5.5) /2x4.0+(5.5+3.7) /2% 3.8 = 76.5 m2
L= = 13.3m
N= = 1.0 &
W= = 500.0 ke
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